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The way to divide soil among three points
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Question

HEEER ( English translation )

When you divide soil of 300%%P° among three points,
one point take 4500009,

another point 6°"°%400009°k%,

the other

point 8¢"0%600009°k¢

When you need to divide 1t evenly without relevant to the distance and the crop,
how much soil should we give.

Answer

4°hoU harvest 50000994, 140tsubogbugrigmou,
6% harvest 4000090k 75tsubo.

8c"oU harvest 600009°%%, g4tsubozbugrigmou

Solution

If you divide 1t54P° by 40U vou’ll get 0.25, and if you multiply this value by 500009°%%
you'll get 1.25. If you divide 135%° by 6% you’ll get 0.16666 ---
value by 400009°%%  you’ll get 0.6666---

you multiply this value by 600009°%% you’ll get 0.75.

Totaling everything comes to 2.6666---.

If you divide 300'*P° by this value, you’ll get 112.5.

This 1s the value allotted soil to among three points.

If you multiply this value by each value, you'll get each share.

In the above solution, if you divide 154Pohy 4chou  gehou = gchou = vay’]] get the value that

and 1f you multiply this
. If you divide 15540 by 80U vou’ll get 0.125, and if

f4_Ch0uharveSt50000goku’ 14.0tsubo 6bu2‘ri5m0u\
Answer { 6MUharvest400009°ku 75tsubo >
\ SChouhaTUeSt600()OgOku, 84_tsub03bu7ri5mou )
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how much soil per 1¢"°* is there in each place.
Then, 1f you multiply these values by each crop, you'll get each rough.
Dividing among three place.

I'll omit an explanation.

If you solve in the above way, you'll get the answer though the numbers are different, so
H 1R Sone, Hi# Takamori

Generally, in case of getting to Kyoto from Edo, the first lodging was
Jalsulafuliu Or SHodagayajulfou.
The distance from Jbentiastii to Hedegayajufe is 879°% ( about 33
kilometers ), the distance from A#enbiastii to Jatsuftajutieis 107 18M0%
( about 42 kilometers ).So the people in Edo period may walk
about 8~10"( about 32~40 kilometers ).

g t&) %féd)g%eh o !EJY{'*\ ‘ ( Summary e Future taSkS o |mDreSSiOh ) Of course, though this distance is in case of the men, if they
walk 4 kilometers per hour, they will have walked for 8~10
it & {@*,.;,E‘ hours. Because of this, they left at dawn, and arrived at the
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Each of us concentrated on our own part, so I thought

I thought that dividing soil like this question
often happened in Edo period because
agriculture became actively, and there was the
system that make groups of five families
cooperate to pay an annual land tax then.

the second day, and walked about 30 kilometers on the third
day to get to Hakone.

It 1s unbelievable to walk 10 hours every day to get to
destination now. So generally speaking, the people 1n Edo
period had stronger legs than we think.

that 1t was better to cooperate each other.
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